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QUESTION 1

Which two resource types can be limited on the vApp level? (Choose two.) 

A. Network 

B. CPU 

C. Storage 

D. Memory 

Correct Answer: BD 

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.vm_admin.doc%2FGUID-9902FD4C-4727-43F7-AEAF-901DA4CB4D60.html 

 

QUESTION 2

Which password meets the default password requirements in ESXi 6.x? 

A. Xqa_hin3 

B. xTaMEhb! 

C. xQA!3h 

D. Xqavntthi3 

Correct Answer: B 

 

QUESTION 3

Which three options are available when applying a customization Specification to an existing virtual machine? (Choose
three.) 

A. Create a specification 

B. Import a specification 

C. Modify a specification 

D. Select an existing specification. 

E. Create a specification from an existing specification. 

Correct Answer: ABD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUIDEB5F090E-723C-4470 B640-50B35D1EC016.html 
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QUESTION 4

What are two requirements needed to enable a 4 vCPU virtual machine with Fault Tolerance? (Choose two.) 

A. vSphere Enterprise Plus license 

B. 1 GbE uplink for FT logging network 

C. vSphere Standard license 

D. 10 GbE uplink for FT logging network 

Correct Answer: AD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID57929CF0-DA9B-407A-BF2E-E7B72708D825.html 

 

QUESTION 5

Which two options does VM Monitoring use to determine if a virtual machine should be reset? (Choose two.) 

A. I/O activity from the virtual machine 

B. CPU activity from the virtual machine 

C. Network activity from the virtual machine 

D. Heartbeats from VMware Tools 

Correct Answer: AD 

 

QUESTION 6

What three tools or products can be used for monitoring a vSphere 6.x deployment? (Choose three.) 

A. vCenter Alarms 

B. vCenter Events 

C. vRealize Automation 

D. vRealize Operations Manager 

E. vRealize Orchestrator 

Correct Answer: ADE 

 

QUESTION 7
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Which two statements are true using Resource Pools? (Choose two.) 

A. Resource Pools require vSphere DRS to be enabled. 

B. Resource Pools compartmentalize all resource in a cluster. 

C. Resource Pools compartmentalize all resources in a datacenter. 

D. Resource Pools require vSphere HA to be enabled. 

Correct Answer: AB 

Reference: https://communities.vmware.com/thread/145338 

 

QUESTION 8

Which two choices would make a Virtual Machine compatible when enabling Fault Tolerance? (Choose two.) 

A. NIC passthrough 

B. 2 TB + VMDK 

C. e1000 virtual network adapter 

D. 4 Virtual CPUs (vCPU) 

Correct Answer: CD 

 

QUESTION 9

One of your virtual machines (VM) has performance issues and sometimes is unresponsive. 

Which VM file must be checked in order to find the root cause? 

A. vpxd.log 

B. ds.log 

C. vminst.log 

D. vmware.log 

Correct Answer: D 

 

QUESTION 10

A vSphere administrator uses vMotion to migrate a virtual machine between two ESXi hosts and notices that they can
no longer ping the VM. 

What is the cause? 
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A. The destination host has an incorrect VLAN tag on the virtual machine port group for the VM. 

B. The destination host has two port groups with the same VLAN tag. 

C. There is an MTU mismatch. 

D. The virtual machine has RDMs attached. 

Correct Answer: B 

 

QUESTION 11

Which two options can be used for vCenter Server 6.x database availability? (Choose two.) 

A. Microsoft SQL Server 2012/2014 AlwaysOn Availability Groups (AG) 

B. vCenter Server Watchdog 

C. NSX load balancer 

D. vCenter Server Heartbeat 

E. Microsoft Windows Server Failover Clustering 

Correct Answer: BE 

Reference: https://kb.vmware.com/s/article/1024051 

 

QUESTION 12

Which two choices are valid ways to patch an ESXi host? (Choose two.) 

A. vRealize Operations Manager 

B. vSphere Update Manager 

C. configuring a Host Profile 

D. utilizing the esxcli Command Line Interface 

Correct Answer: BD 

Reference: https://kb.vmware.com/s/article/2020972 

 

QUESTION 13

Which two formats are supported for exporting a VM to a storage media? (Choose two.) 

A. EXE 

B. OVF 
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C. OVA 

D. ISO 

Correct Answer: BC 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUIDAE61948B-
C2EE-436E-BAFB-3C7209088552.html 

 

QUESTION 14

A vSphere administrator is required to apply security hardening policies following the VMware vSphere Hardening Guide
recommendations. 

Which tool enables native compliance reporting for these guidelines? 

A. VMware vCenter Server 

B. VMware vRealize Operations Manager 

C. VMware vSphere Update Manager 

D. VMware AirWatch 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/com.vmware.vcom.core.doc/
GUID-1DE5F654-A59E-4DA0-A294-AE7676AEE267.html 

 

QUESTION 15

Which three methods can a vSphere administrator use to automatically synchronize time on a ESXi host? (Choose
three.) 

A. Log in to the VMware Host Client, navigate to Host > Manage > Time and date and click Edit settings. 

B. Configure the VMware Tools time synchronization. 

C. Select the host in the vSphere Web Client, navigate to Configure > System > Time Configuration and click the Edit
button. 

D. Use the vicfg-ntp command. 

E. Use the esxcli hardware clock get command in the ESXi Shell. 

Correct Answer: ACD 
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